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1) The greatest number that exactly divides 105, 1001 and 2436 is:

1)3
v 2)7

3) 21

4) 11

TN 2 5151, 3T OIS0 IJ H0E, Y00d IR 18VY T STHT.S = q
Note: Divides = W5 3 A 51518 WK Divided = 151 <1 I/ A 313

2) The only country in Asia that was never colonized by a European power is

v 1) Thailand
2) Bhutan
3) Nepal
4) Myanmar

AN : ABATG' X WY T B I TG | Y0 HEH 00T T <R AT ARG
I YBANG AP A1 |

The only country in Asia that was never colonized by a European power is
Thailand, formerly known as Siam. While Thailand experienced external
pressure and influence from European powers during the colonial era, it
managed to maintain its independence and avoid direct colonization.

3) The free trade area comprising Argentina, Brazil, Paraguay, Uruguay and
Venezuela is called:

1) SACU
2) CAFTA

v 3) MERCOSUR
4) COMECON

~— N S S

A : MERCOSUR 3 S| =91 2 Mercado Comun Del Sur W3 571 7e] SFSH
HOMONG\3-(T |

Mercosur is an economic and political bloc comprising Argentina, Brazil,
Paraguay, Uruguay, and Venezuela.

Created during a period when longtime rivals Argentina and Brazil were



seeking to improve relations, the bloc saw some early successes, including a
tenfold increase in trade within the group in the 1990s. However, many
experts say Mercosur has since failed to live up to its ambitions of integrating
the region
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23) INDOLENT - THE WORD THAT CONVEYS THE SAME MEANING?

1) CASUAL

v 2) LETHARGIC
3) DISINTERESTED
4) BORING

4T : INDOLENT -- habitually lazy 1a: averse to activity, effort, or movement:
habitually lazy. b: showing an inclination to laziness and an indolent sigh.
Lethargic --



1: of, relating to, or characterized by laziness or lack of energy: feeling or
affected by lethargy: sluggish The patient was weak and lethargic. 2:
indifferent, apathetic The legislature was lethargic in considering the bill.

24) DELETERIOUS - THE WORD THAT IS MOST CLOSELY OPPOSITE IN
MEANING?

1) PATHETIC

v 2) SALUBRIOUS
3) IMPULSIVE
4) INCLUSIVE

~— N N S

T : 'Deleterious' means '‘Harmful' or 'Negative'. So its antonym will be
healthy, healthful, hygienic, salubrious, genial, sound.(3%5<<)
PATHETIC= 39

SALUBRIOUS=AE11

IMPULSIVE=X1I512479

INCLUSIVE=080

25) GRANDIOSE - THE WORD THAT IS MOST CLOSELY OPPOSITE IN MEANING.

1) BRILLIANT

2) EGOISTIC

3) PRETENTIOUS
v 4) MODEST

N— N N N

14T : GRANDIOSE -- @INGa<9(«(

Synonymes: stylish, gorgeous, frilly, gala, grandiose, pompous.
BRILLIANT= S

EGOISTIC=SRPI!

PRETENTIOUS=19

THE WORD THAT IS MOST CLOSELY OPPOSITE IN MEANING-- MODEST
(1),

26) 'THE WINDOW PANES STEAMED UP' Q< IYRIY 18-

1) AR ST (S (57
2) ST “YTER] SIS K& (ST
v 3) SIAETR P15 AT T (5T
4) SIATR IS SGE A

4N : The window panes steamed upp A< SEF AT SR BT5 M1 X (57T |



27) USURP - THE WORD THAT IS MOST CLOSELY OPPOSITE IN MEANING.

1) RISE RAPIDLY
2) PRODUCE QUICKLY
3) USE FULLY

v 4) OWN RIGHTFULLY

~— N N S

AT : usurp- SRITLS 1, BPIRASARTS AL

RISE RAPIDLY = 7o Jf&

PRODUCE QUICKLY =F% B 9d

USE FULLY = SqAC INRK 3P d

THE WORD THAT IS MOST CLOSELY OPPOSITE IN MEANING is --OWN
RIGHTFULLY.

28) HARASSED BY REPEATED ACTS OF INJUSTICE, HE DECIDED TO PUT HIS
FOOT DOWN. Here PUT HIS FOOT DOWN means--

v 1) NOT TO YIELD
2) WITHDRAW
3) NONE OF THESE
4) RESIGN

I : put his foot down: adopt a firm policy when faced with opposition or
disobedience.

29) THE BILL WAS PASSED BY THE PARLIAMENT IN THE TEETH OF
OPPOSITION. Which one is best meaning of idioms/phrase?

v 1) IN THE FACE OF
2) ASSISTANCE
3) COOPERATION
4) BY FORCE OF

T : in the teeth of opposition - &7 <G Riera P11 REMEOR | in the face of
TS 2i7et Xifed Reeca | O 53 T (a).

30) HALCYON - THE WORD THAT CONVEYS THE SAME MEANING?

1) MOTIONLESS
2) LUMINOUS
3) GENTLE

v 4) PEACEFUL



AT : HALCYON =>Ti3

MOTIONLESS = sif53d

LUMINOUS=3IeTTeo

PEACEFUL=-T3ax

HALCYON - THE WORD THAT CONVEYS THE SAME MEANING is PEACEFUL
. Synonyms are- 1 : calm, peaceful. 2 : happy, golden. 3 : prosperous,
affluent.

31) INSOUCIANCE - THE WORD THAT IS MOST CLOSELY OPPOSITE IN
MEANING.

1) SLUMBER

2) INDIFFERENT

v 3) INTEREST

4) COMPOSURE

T : INSOUCIANC (\3ATS¥IeT).

apathy, indifference, nonchalance, listlessness, phlegm, insouciance.
SLUMBER= {&

INDIFFERENT = Sni3iid

INTEREST= ¥

THE WORD THAT IS MOST CLOSELY OPPOSITE IN MEANING is-- INTEREST.

32) THE MAN WHO HAS COMMITTED SUCH A SERIOUS CRIME MUST ‘GET
THE MOSTLY SEVERE’ PUNISHMENT . Which one best replaces the highlighted
phrase?

1) HAVE GOT THE MOST SEVERELY
v 2) GET THE MOST SEVERE

3) GOT THE MOSTLY SEVERELY

4) NO IMPROVEMENT

MY : The man who has committed such a serious crime must get the most
severe punishment.

33) OBDURATE - THE WORD THAT CONVEYS THE SAME MEANING?

1) CALLOUS

2) CARELESS

3) CONTRARY
v 4) STUBBORN



A : obdurate (adjective): (synonyms)
stubborn,

obstinate,

unyielding,

unbending,

inflexible,

intransigent,

implacable,

pig-headed,

bull-headed,

mulish,

stiff-necked,

headstrong.

OBDURATE =0IiGp, U3
CALLOUS= Tqoiold
CONTRARY = R#[dro
STUBBORN = a3d@

34) VENERATE - THE WORD THAT CONVEYS THE SAME MEANING?

1) DEFAME

2) ACCUSE
v 3) RESPECT

4) ABUSE

AN : Venerate -- Gl 31,5771 341 (verb)
DEFAME =dxdrd

ACCUSE=3f{& 3Fd

RESPECT =514

ABUSE =5T1fey

35) ENIGMATIC - THE WORD THAT CONVEYS THE SAME MEANING?

1) ILLUSIVE
v 2) PUZZLING
3) PITHY
4) COMPLICATED

S~— N N N

AT : ENIGMATIC-- 325778,
Some common synonyms of enigmatic are ambiguous, cryptic, dark,
equivocal, obscure, and vague. While all these words mean "not clearly



understandable," enigmatic stresses a puzzling, mystifying quality.
PUZZLING-- ¢s1ieicacet (disturbing, confusing, vexatious, persnickety,
anfractuous).

PITHY --3to%

ILLUSIVE -- QTIp.

36) HE WAS IN A BROWN STUDY AND DID NOT SEEM TO CATCH MY POINT .
What is the meaning of IN A BROWN STUDY?

1) IN A STATE OF SHOCK
2) IN HIS STUDY ROOM

v 3) ABSENT-MINDED
4) ABSORBED IN READING

AT : in a brown study ( SEEAT) - Q< 0P X2 absent - minded
minded(AWGEIT) |

37) THE MACHINE-READABLE FORM OF A PROGRAM IS CALLED AS?

1) SOURCE CODE

v 2) OBJECT CODE

3) NONE OF THESE

4) EXECUTABLE FILE

AN : Source Code: B (ATITH, AT UFSA (ATSTAR 7T ARG AP @G | FHRTG Qo
B A ST IR I, T TG TR TSR AT |

Object Code: TRIGE (ATSITH FYRTS W36 @RF i HRTGTIe T3, T 9B F=oMBAR
IR I B PIRT FORT FIR TR | ARY ORI @A @IS fAEEIR 104, B3 BRI
I TRT LR SIS T |

Executable File: aft = Object Code & linking are af@aR Rowd M 51eTdT PR
Teree | aft aF7d @R[ @18, T SR @FE (938 )= 51feto T0 *1 |

Source Code > Object Code > Executable File > Machine(CPU)

wfe Object Code \3 Executable File B2 machine SR SECS @1 &(F A Roo]
Executable File SRR @R[ (938 )= 51716 T@ “M& | Object Code 15 e
5K 7T Executable File @ #ffkios 2|

38) NO SOONER HAD HE ENTERED THE ROOM ‘WHEN THE LIGHTS WENT
OUT’ AND EVERYBODY BEGAN TO SCREAM--

1) AND THE LIGHTS WENT OUT
v 2) THAN THE LIGHTS WENT OUT
3) WHEN THE LIGHTS WENT OUT



4) THEN THE LIGHTS WENT OUT

AT : 'No sooner had ....... than' a3fG fff® structure It 513 $6 ZJ (b) than
the lights went out.

39) THEY ‘FEEL VERY PROUDLY’ THAT THEIR TEAM HAD WON THE MATCH .
Which one best replaces the highlighted one?

1) FELT VERY PRIDE
2) NO IMPROVEMENT
v 3) FELT VERY PROUD
4) FEELS VERY PROUDLY

T : Sentence- 57 5199 TSI AT Past Indefinite-a XA | GG felt X3 W3e feel
verb 139 AIMIKTO adjective T I felt very proud—??ﬂ%@_wy |

40) | HAVE A BONE TO PICK WITH YOU IN THIS MATTER. Which one is the
best meaning of this idioms/phrase?

AM ANGRY
DESIRE

SELFISH MOTIVE
SELFLESS MOTIVE

v 1)
2)
3)
4)

T - Have a bone to pick - (1T TR T PIRCC 15T FAT QIR G R WA AT FAT)

phrase 03 meaning @™ (a)am angry (J15139) |

41) DISCORDAN - THE WORD THAT IS MOST CLOSELY OPPOSITE IN
MEANING?

1) SEPARATE
2) DIFFERENT

v 3) HARMONIOUS
4) HARSH

I : antonyms for discordant:

similar. agreeable. agreeing. concordant. cooperating. harmonious.
discordant="rwmoo

SEPARATE=X1TMI

DIFFERENT=foq

HARMONIOUS=3{JeT

HARSH=2"



42) THE ORATOR ‘HAD BEEN LEFT" THE AUDITORIUM BEFORE THE AUDIENCE
STOOD UP

1) WAS LEFT

2) NO IMPROVEMENT
v 3) HAD LEFT

4) HAD BEEN LEFT

~— N N S

A : The orator WHQ subject fASR auditorium Vst I &eta I verb - a3
active form | 3[od1R S Bw (c) had left 4|
The orator had left the auditorium before the audience stood up.

43) THE REFLEX ANGLE BETWEEN THE HANDS OF A CLOCK AT 10.251S:

1) 195°

2) 192.5°

3) 180°
v 4)197.5°

Angle traced by hour hand in 125/12 hours = (360 =+ 12) x (125+12) =312 %
degree

Iy ;. Angle traced by minute hand in 25 minute = (360 = 60) x 25 = 150 degree
Now, Reflex Angle =360 - (312 %2-150) = 360 — 162 %2 = 197 %2 degree

Hence, the correct answer is 197 % degree.

44) THREE PARTNERS A, B, C START A BUSINESS . TWICE A’'S CAPITAL IS
EQUAL TO THRICE B’S CAPITAL AND B’S CAPITAL IS FOUR TIMES C’S CAPITAL
. OUT OF ATOTAL PROFIT OF TK. 16,500 AT THE END OF THE YEAR , B'S
SHARE IS :

1) 7500
v 2) 6000
3) 6600

)
)
)
4) 4000



Suppose C's capital = x then

B's capital = 4x (Since B's Capital is four times C's capital)

A's capital = 6x ( Since twice A's capital is equal to thrice B's capital)
A:B:C=6x:4x:x

=6:4:1

B's share = 16500 x % = 1500 x 4 = 6000.

IIT -

45) IN TERMS OF MUSLIM POPULATION, THE RANK OF BANGLADESH IS :

1) SECOND

2) THIRD

v 3) FOURTH
4) FIFTH

AN = T [eT SR AT P M IREAOR SREE 59| 2 A @R (RW.80 @I1D),
AR “fPBIE (5%, A0 PIT), TORT FRCSRA (9.0 (PID) UIFPRERFTET (Y89 (TD) |

46) THE AVERAGE OF THE TWO-DIGIT NUMBERS, WHICH REMAIN THE SAME
WHEN THE DIGITS INTERCHANGE THEIR POSITIONS IS :

1) 66.0
2) 33.0
v 3)55.0
4) 44.0

Average is the sum of the data values divided by the total number of data
values.

The two digit numbers which remain same when the digits interchange their
position are 11,22,33.44, 55,66, 77.88.99

IIT -
11+22+33+44+55+66+77+88+99

Therefore, average = 5

25
9

N

=35

47) WHAT IS THE USE OF FORMS IN HTML ?
1) TO DISPLAY ANIMATION EFFECT



2) NONE
v 3) TO COLLECT USER'’S INPUT
4) TO DISPLAY CONTENTS EMAIL

AT : An HTML form is used to collect user input. The user input is most often
sent to a server for processing.

48) A SUM OF TK. 53 IS DIVIDED AMONG A, B, AND C IN SUCH A WAY THAT A
GETS TK. 7 MORE THAN WHAT B GETS AND B GETS TK. 8 MORE THAN WHAT
C GETS. THE RATIO OF THEIR SHARES IS :

1) 15:8:30

v 2) 25:18:10

3) 16:9:18

4) 18:25:10

AT : Let, C gets = x tk

b gets = (x + 8) tkand
Agets=(x+8+7)tk=(x+ 15) tk
According to question, x + x + 8 + x + 15 =53

3x =30

x =10

So, Cgets = 10 tk
B gets = 18 tk

and A gets = 25 tk
The ratio of their sharesis 25 :18:10

49) TANYA'S GRANDFATHER WAS 8 TIMES OLDER TO HER 16 YEARS AGO . HE
WOULD BI 3 TIMES OF HER AGE 8 YEARS FROM NOW . EIGHT YEARS AGO,
WHAT WAS THE RATIO OF TANYA'S AGE TO THAT OF HER GRANDFATHER ?

1) 1:5

2)1:2

3) 3:8
)

v 4) NONE

[ : Let, Tanya's age 16 years ago be x,

So grandfather's age 16 years ago = 8x.

8 years from now grandfather is three times her age
=>3(x+ 16 +8)=(8x+ 16 + 8)

= > 3(X + 24) = (8x + 24)

=>3X+72=8x+ 24



= > 5x =48

= > X =48/5

8 years ago, the ratio was:

X + 8)/(8x + 8) = 48/5 + 8/8*48/5 + 5

=48 + 40/384 + 40 = 88/424

= 11/53

Therefore,

the ratio of Tanya's age to that of her grandfather = 11:53

50) WHO WON SIX CONSECUTIVE WIMBLEDON SINGLES TITLES IN THE
1980S ?

1) CHRIS EVERT
2) BORIS BECKER
3) IVAN LENDL
v 4) MARTINA NAVRATILOVA

~— N N S

AT 2 AR PN T TN oAl ATSATOCETST PR BRI B3Fe0d Q3P O oo &eid |
YRR, SR, Y38, dabe, Ydb Y \3 Yobrq A BTG oo &eeid |

51) IF THE COMPOUND INTEREST ON A SUM FOR 2 YEARS AT 12.5% PER
ANNUM IS TK. 510 THE SIMPLE INTEREST ON THE SAME AT THE SAME RATE
FOR THE SAME PERIOD OF TIME IS :



IIT -

Let P = principal, R = rate of interest and N = time period
Amount when calculated annually,

= Compound interest = Amount — principal

= Compound interest = P {1 + (R/100)}"- P

=510 =P {1 +(25/200)}*- P

=510=P (9/8)2-P

= 510=17P/64

=P =1920

= Simple interest = (Principal x rate x time)/100 = {1920 x 2 x (25/2)}/100 =
480

-~ Simple interest would be Rs. 480

52) WHICH CANAL IS KNOWN AS THE ‘HIGHWAY TO INDIA’ ?

SUEZ CANAL
GRAND CANAL
INDUS CANAL
RAVI CANAL

v 1)
2)
3)
4)

AT 2 STISAA 2R\ § 3G dAcasififos | aft (A7 oFgo 9B Aret T GadrsisK \3

(D TSR AP0 FERCZ | H¢Y T AT TR TR SO 3T I | afFrm

\33CEICHR TGS IR ISR Ty I3 AR SFF AR |

53) ‘BOURSE’ IS A EUROPEAN WORD FOR WHAT FINANCIAL MECHANISM?

1) DEFERRED PAYMENTS
v 2) STOCK EXCHANGE
3) COMMODITY MARKET
4) FOREIGN EXCHANGE MARKET

N— N N N

A : The term bourse refers to the French word for the stock exchange. A
bourse was traditionally organized as a place to buy and sell securities,
commodities, options, and other investments.



54) IF 18 PUMPS CAN RAISE 2170 TONNES OF WATER IN 10 DAYS , WORKING
7 HOURS A DAY ; IN HOW MANY DAYS WILL 16 PUMPS RAISE 1736 TONNES
OF WATER , WORKING 9 HOURS A DAY ?

1)9
v

H W N
o 00

T : Let the required number of days be x.
Then,

Less pumps, More days (Indirect Proportion)
Less water, Less days (Direct Proportion)

More hours / day, Less days (Indirect Proportion)
Pumps 8: 9

Weight 1085 : 868

Hours/day 9 : 7 :: 10 : x

Now, (8x 1085x9x X)= (9x868x10x7)

so, Xx=17

55) THE VALUE v(10+V(25+V(108+V(154+V225)))) IS OF:
vl1a4a

w N

)
) 8
) 6
)1

o

0



Correct option is A)

\/IOX—\/ZS—\/IOS-\/M

= J 10—\/25+\/108+\/154+\/B

- \/1o+\/25+\/108+\/@
T oo oo

=\/10+\f 25++121
= \/ 10+4/25+11

=1/10+4/36

=4/10+6=+/16=4

56) IF THE SUM OF TWO NUMBERS IS 33 AND THEIR DIFFERENCE IS 15, THE

SMALLER NUMBER IS :

v19
2) 12
3) 18
4) 15

SEUIE-

Let the numbers be x and y.

Since,
x+y=33 ... (1)
x-y=15 ... (2)

On solving equation (1) and (2), we get
x=24,y=9

Hence, the smallest number is 9.



57) SQL STANDS FOR

1) STANDARD QUERY LINGUISTICS

2) STRUCTURE QUERY LANGUAGE

3) STANDARD QUERY LANGUAGE
v 4) NONE

~— N N S

I : SQL stands for Structured Query Language. SQL is used to
communicate with a database.

It is a universal programming language used to manage relational databases
(RDBMS). Many relational database systems support the SQL language,
including MySQL, SQL Server, and Oracle.

58) CSS IS AN ACRONYM FOR

CASCADING STYLE SHEET
NONE

COSTUME STYLE SHEET
CASCADING SYSTEM STYLE

v
2
3
4

~— N N S

I : CSS stands for Cascading Style Sheets.

CSS describes how HTML elements are to be displayed on screen, paper, or
in other media.

CSS saves a lot of work. It can control the layout of multiple web pages all at
once.

External stylesheets are stored in CSS files.

59) THE DECLARATION OF INDEPENDENCE IN THE USA WAS WRITTEN BY :

1) ABRAHAM LINCOLN
2) DWIGHT D. EISENHOWER
3) GEORGE WASHINGTON

v 4) THOMAS JEFFERSON

A : Written in June 1776, Thomas Jefferson's draft of the Declaration of
Independence, included eighty-six changes made later by John Adams
(1735-1826), Benjamin Franklin 1706-1790), other members of the
committee appointed to draft the document, and by Congress.



60) TWO PIPES A AND B CAN FILL A TANKIN 20 AND 30 MINUTES
RESPECTIVELY . IF BOTH THE PIPES ARE USED TOGETHER , THEN HOW LONG
WILL IT TAKE TO FILL THE TANK ?

v 1) 12 MIN
2) 15 MIN
3) 25 MIN
4) 50 MIN
. . .1
Part filled by Ain 1 min = 20"
, , .1
Part filled by B in 1 min= 0"
IR0
Part filled by (A + B) in 1 min= (i + i) - i
20 30 12

.. Both pipes can fill the tank in 12 minutes.

61) TWO NUMBERS ARE IN THE RATIO OF 15:11. IF THEIR H.C.F IS 13, FIND
THE NUMBERS.

v 1) 195 AND 143
2) 190 AND 143
3) NONE OF THESE
4) 195 AND 145

A : Let the required numbers be 15x and 11x.

Now, 15x = 15 x x ...(i)

And, 11x = 11 x x ...(ii)

From (i) and (ii), we can say that x is the highest common factor for both 15x
and 11x.

- x is the H.C.F. of 15x and 11x.

It is given that the H.C.F of the numbers is 13.

~x=13

". The numbers are 15x13 and 11x13

i.e., 195 and 143.

62) THE SERIES OF SKETCHES KNOWN AS ‘FAMINE SKETCHES’ WAS DRAWN
BY :

1) QAIYUM CHOWDHURY



2) KAMRUL HASSAN
3) M. SULTAN
v 4) ZAINUL ABEDIN

4 : 'Famine Sketch' is part of a series of drawings created by Bengali
master artist Zainul Abedin in 1943, depicting the miserable conditions of the
people during the Bengal famine of 1943.

63) IN A RACE OF 200 M, A CAN BEAT B BY 31 M AND C BY 18 M. IN A RACE
OF 350 M, C WILL BEAT B BY:

A:B=200:160.

A:C=200:182.

C /C A\ [182 200\ 182
CE_(C AN (182 200N _ 182 o560
"B (_A’B) (_200x169) 169

Rk When C covers 182 m, B covers 169 m.

When C covers 350 m, B covers ( % x 350) m = 325m

Therefore, C beats B by (350-325) m=25m.

64) THE AMERICAN STATE THAT IS NEAREST TO THE FORMER SOVIET UNION
IS :

1) HAWAII

2) WASHINGTON
v 3) ALASKA

4) NEW YORK

AT : TEAEA WA T AT FEP GNNSTS 26 oRicad KT faps sRiEo | aft gt
GG FO R WG % | Sbruq S G 2 TN GARR [T 1681 IFRR 312
P b @

65) SIXTY-FIVE PERCENT OF A NUMBER IS 21 LESS THAN FOUR-FIFTH OF
THAT NUMBER. WHAT IS THE NUMBER ?

v 1) 140
2) 142



3) 145
4) 144

let the number be ‘X

Given:-

65% f x = g(x) ~-21

= —x==-x-21

<IIT - 20 5 =

= — =21

= x=7x20=140
. x =140

66) WHICH OF THE FOLLOWING IS NOT IN OSI MODEL?

1) PHYSICAL LAYER
v 2) INTERNET LAYER
3) NONE
4) TRANSPORT LAYER
A : The Internet layer, also known as the network layer or IP layer, accepts
and delivers packets for the network. This layer includes the powerful
Internet Protocol (IP), the Address Resolution Protocol (ARP), and the Internet
Control Message Protocol (ICMP).
Layer 7 - Application
Layer 6 - Presentation
Layer 5 - Session
Layer 4 - Transport
Layer 3 - Network
Layer 2 - Data Link
Layer 1 - Physical



67) WHICH IS THE FINANCIAL CENTRE AND MAIN CITY OF SWITZERLAND ?

1) GENEVA

2) LAUSANNE

v 3) ZURICH

4) BERNE

AT : The main financial hubs are Zurich and Geneva, both of which have an
international reputation, with Lugano taking third place. The Swiss financial
sector is a cornerstone of the Swiss economy and generates around 10% of
the GDP.

68) WHICH ONE OF THE FOLLOWING REPRESENT THE BINARY EQUIVALENT
OF THE DECIMAL NUMBER 23 ?

1) 1011

v 2)10111.0

3) NONE OF THESE

4) 10011

AT : BT T AT AT Decimal Number & JBARICO ABR© 31 faws

) SR R TR O PP

R) CHT OISO 21 R T 5140 o1 11fkig o 1y

) 21 SISICRP AT P oA TR QIR SIS 2T X 7T Sl DI | AT RIS
IEA @,

0.5) 0 @ > @ X THI G5 FACET TIP3 0, TSNS

8) VL Y110 DO R TOHd dl TISTP T2 0 Moz |

@) BISTTE = 0 XA, THICR ST 9-2[- ST BB MR | QCFC@ (RIS IR @,

@.5) S CTF M3 SISO SR AU 132 KK AT 23T SISO 5-F G I | 23 in
binary is 10111.

69) THE DIFFERENCE OF TWO NUMBERS IS 11 AND ONE-FIFTH OF THEIR
SUM IS 9. FIND THE NUMBERS.

v 1) 28 AND 17
2) 28 AND 19
3) NONE OF THESE
4) 28 AND 18

I : Let the number be x and .
Then x -y =11 ----i
and1/5x+y=9=>x+y=45-—ii



Adding i and ii we get:

2X = 56

or x = 28.

Putting x = 28 iniwe get: y = 17.
Hence the numbers are 28 and 17.

70) The largest number among v2, V3, V4 is
1) ALL ARE EQUAL

N
(OV)

]
38\/\/

. < <
N B

loln—a

V2 =2
3v3 =10 x3=V2T=(27)?
T ; 4\/‘I:m=\/6—:(64)%

(2)7 < (27)7 < (64)7
=12 < 33 < 4v/4

71) THE LAST ADDRESS OF IP ADDRESS REPRESENTS

1) NETWORK ADDRESS
2) NONE OF THESE

v 3) BROADCAST ADDRESS
4) UNICAST ADDRESS

I : A broadcast address is a network address used to transmit to all
devices connected to a multiple-access communications network. A message
sent to a broadcast address may be received by all network-attached hosts.

72) IF AX=B, BY=C AND C%=A, THEN THE VALUE OF XYZ IS:

1) ABC
v2)1

3) 1/ABC

4) 0



a*=b
=>(cH)x=b

=>c¥=p
IRAT

=> () =b

=>p¥Z=pl

=>xyz=1

73) THE HIGHEST MOUNTAIN IN BANGLADESH IS :

v 1) Tazing Dong
2) KEOKRADONG
3) MURIPHA TAUNG
4) RENG TLANG

4T : Tazing Dong officially known as Bijoy, is a mountain in Bangladesh.
Officially, it is the highest mountain in Bangladesh. It is located on the Saichol
Mountain ranges, Ruma Upazila of Bandarban District, southeast of
Bangladesh. According to official calculations, the height of Tazing Dong is
1,280 meters (4,200 ft). Earlier, some used to say that Keokradong was the
highest mountain in Bangladesh; others used to claim Saka Haphong as the
highest mountain.

74) THE BANGLADESHI BORN UN UNDER SECRETARY GENERAL FOR FIELD
SUPPORT IS :

1) IRENE KHAN
v 2) AMIRAH HAQ
3) ASMA JAHANGIR
4) NILOUFER NINA AHMAD

YT : SIRGHLCTR G D11 (SRR SRR A IR A1 A2 290 | fofd efis
SR R0 - ST MGICSR 20T 2T 2053 HER 5 GARP 2058 FER QIR 2178 71y
TN PR | 97 W1 Fofd Sfosizcad [ifeq Sege{o iy 1etd IEEd |

75)IFX=1+v2ANDY =1 - V2, FIND THE VALUE OF (X2+Y?)
v16



AT : X24Y2 = (X+Y)2-2XY
(L+V2+1-v2)2-2(1+vV2).(1-V2)
=22.2(1-2)

=442 =6

76) WHAT IS THE NAME OF THE ANCIENT ROMAN CITY THAT WAS
DESTROYED BY THE ERUPTION OF THE VOLCANO VESUVIUS IN THE FIRST
CENTURY ?

1) NAPLES
v 2) POMPEII
3) ROME
4) FLORENCE

N— N N N

A : Pompeii, a flourishing resort city south of ancient Rome, was nestled
along the coast of Italy in the shadow of Mount Vesuvius, an active volcano.
Its most famous eruption took place in the year 79 A.D., when it buried the
city of Pompeii under a thick carpet of volcanic ash.

77) A HARD DISK IS DIVIDED INTO TRACKS WHICH ARE FURTHER
SUBDIVIDED INTO :

1) CLUSTERS

v 2) SECTORS
3) NONE OF THESE
4) VECTORS

N— N N N

AN = 26 B ARG T ( track) TR FOIET Sector - 4 ow | o5 sector AIRK
ROG PO FIFOE (cluster) |

78) IF THE NUMBER 91876 * 2 IS COMPLETELY DIVISIBLE BY 8, THEN THE
SMALLEST WHOLE NUMBER IN PLACE OF * WILL BE :

1)2

[
e
W



A If * =3 then 9187632 must be divisible by 8.
Sk =3

79) AN ARTICLE WHEN SOLD AT A GAIN OF 5% YIELDS TK. 15 MORE THAN

WHEN SOLD AT A LOSS OF 5% . ITS COST PRICE WOULD BE :

AT : At, 5% gain, selling price = 105 Tk.

Again, 5% loss, then selling price = 95tk

Difference of both price = ( 105 - 95) tk = 10 tk

Selling price 10 tk more than cost price = 100 tk

selling price 15 tk more than cost price ( 100x15)/10 = 150 tk.

80) THE VALUE OF 1001 + 11 OF 13 IS:

Following the BODMAS rule

1001 = (11 = 13)
T -
1001 = 143

7

81) The price of the sugar rise by 25%. If a family wants to keep their

expenses on sugar the same as earlier, the family will have to decrease its

consumption of sugar by

1) 75%
v 2) 20%
3) 80%
4) 25%

A Let the initial expenses on Sugar was Tk. 100.

Now, Price of Sugar rises 25%. So, to buy same amount of Sugar, they need

to expense,



= (100 + 25% of 100) = Tk. 125.

But, They want to keep expenses on Sugar, so they have to cut Tk. 25 in the
expenses to keep it to Tk. 100.

Now, % decrease in Consumption,

(25/125)%x100=20%

82) THE EUROPEAN CENTRAL BANK IS BASED IN :

1) PARIS

v 2) FRANKFURT
3) BRUSSELS
4) MAASTRICHT

~— N N S

I : The most important decisions, including setting the interest rates and
deciding which other monetary policy tools to use, are taken by the
Governing Council. The ECB is based in Frankfurt am Main, Germany.

83) THE HIGHEST TUNNEL FOR HIGH-SPEED TRAIN IN THE WORLD HAS BEEN
RECENTLY OPENED IN :

1) RUSSIA
v 2) CHINA

3) BRAZIL
4) JAPAN

AN : B BB APBCER 511 \3 FEAfSTd A0eoR S04y FosTiod oI I @@ », 575
BTe] 2| 93 BICACeTH 07t \3 BT TP Sw.0 3 3 vwoa 8 fATR|

84) AN EXPRESS TRAIN TRAVELLED AT AN AVERAGE SPEED OF 100 KM/HR,
SLOPPING FOR 3 MINUTES AFTER EVERY 75 KM. HOW LONG DID IT TAKE TO
REACH ITS DESTINATION 600 KM FROM THE STARTING POINT ?

6 HRS 21 MIN
6 HRS 27 MIN
6 HRS 24 MIN
6 HRS 30 MIN

vl
2
3
4

N— N N N

AT : Average Speed = 100 km/hr.

With this speed, the train can cover 600 km in 6 hours but the train used to
stop for 3 minutes after every 75 km.

So, Train will stop = 600/75 = 8 times in the whole journey.

But, you need to understand that after the 7th stop train will be at destiny at
the next stop. Therefore, the train will stop 7 times during the journey.



So, extra time = 7 *3 = 21 minutes.
Total time is taken in the journey = 6 hours and 21 minutes.

85) A MAN CAN DO A PIECE OF WORK IN 5 DAYS. BUT WITH THE HELP OF HIS
SON, HE CAN DO IT IN 3 DAYS . IN WHAT TIME CAN THE SON DO IT ALONE ?

1) 7 DAYS
2) 6.5 DAYS
v 3) 7.5 DAYS
4) 8 DAYS
: ' 1 1
Sons 1 days work = (< — g) =
3
IR = 5
. The son alone can do the work m — = 7.5 days

86) IN WHICH COUNTRY DID THE MAN MAU UPRISING (1952-60) OCCUR?

1) NIGERIA
v 2) KENYA

3) ZAMBIA

4) UGANDA

S~— N N N

AT : The Mau Mau Uprising, a revolt against colonial rule in Kenya, lasted
from 1952 through 1960 and helped to hasten Kenya's independence.

87) HOW MANY DIGITS WILL BE THERE TO THE RIGHT OF THE DECIMAL
POINT IN THE PRODUCT OF 95.75 AND 0.2554 7

1) NONE OF THESE
v 2
3

)
)
)
4)

6.0
7.0
5.0

I : Sum of the decimal places = 7. Since the last digit to the extreme right
will be zero ( 5 * 4 = 20), there will be 6 significant digits to the right of the
decimal point.

88) TWO WORKERS A AND B ARE ENGAGED TO DO THE WORK. A WORKING
ALONE TAKES 8 HOURS MORE TO COMPLETE THE JOB THAN IF BOTH
WORKED TOGETHER. IF B WORKED ALONE, HE WOULD NEED 4.5 HOURS



MORE TO COMPLETE THE JOB THAN IF THEY BOTH WORKED TOGETHER.
WHAT TIME WOULD THEY TAKE TO DO THE WORK TOGETHER?

1) 5 HOURS
2) 7 HOURS
v 3) 6 HOURS
4) 4 HOURS

Let A and B together take x hours to complete the work.
Then, A alone takes (x + 8) hours
And

9
B alone takes (x + 5) hours to complete the work
Then,
1 1
=4 + 9
A ; (z+8)  (z+3)
1 2
-+ —
(z+8) (2z+9)
=z (4z +25) = (z + 8) (2z + 9)

—

B~ 8=

= 222 — 72
= z? =36
= =0

89) THE AVERAGE OF THE FIRST NINE PRIME NUMBERS IS:

9

(11) 2/9
(11) 1/9
11

=

2

)
)
v 3)
)

D



-

first nine prime numbers : 2,3,5,7,11,13,17,19,23

average = sum of numbers / total numbers

_243+45+7+11+13+17+19+23
a 9

T &

100
9

1
=11-
9

90) IPV4 ADDRESS IS

1) 64 BIT
v 2) 32 BIT
3) 16 BIT
4) NONE OF THESE

4 : The IPv4 address is a 32-bit number that uniquely identifies a network
interface on a machine. An IPv4 address is typically written in decimal digits,
formatted as four 8-bit fields that are separated by periods. Each 8-bit field
represents a byte of the IPv4 address.

91) THE SIMPLE INTEREST ON A SUM OF MONEY WILL BE TK. 600 AFTER 10
YEARS. IF THE PRINCIPAL IS TREBLED AFTER 5 YEARS , WHAT WILL BE THE
TOTAL INTEREST AT THE END OF THE TENTH YEAR ?

1) 1500.0
2) 600.0
v 3) 1200.0
4) 900.0

Iz In 10 years simple interest is 600 tk

In 5 years simple interest is ( 600x5)/10 = 300 tk

If the principle is trebled interest will be trebled

In next 5 years in interest = (300x3) tk. = 900 tk

So, after 10 years total interest ( 900 + 300)tk = 1200 tk



92) THE ITALIAN EXPLORER WHO IS SAID TO HAVE DISCOVERED AMERICA IS

1
2
3

va

DA VINCI
CARAVAGGIO
CORTEZ
COLUMBUS

~— N N S

AT 2 PETIH D8R ST WO TS WGP I AT AT TROCK TS | IR
FRCPT WRFK 3| 5T 31 7910 SRON SoazteTR “iF5d SOk 3o JEdE 19K JTd
frcafacea - <IF v TRON AIooe |

93) WHERE IN AUSTRALIA DID CAPTAIN COOK LAND ?

1) GREAT BARRIER REEF
2) MORETON BAY
v 3) BOTANY BAY
4) GREAT AUSTRALIAN BIGHT

~— N N

Az In 1770, Lieutenant (later Captain) James Cook landed at Botany Bay's
Inscription Point. He and his Endeavour crew stayed in the area for eight days
and had a dramatic impact on Australian history. Located near Silver Beach
on the Kurnell Peninsula headland, Cook's landing place is a popular Sydney
attraction.

94) IN THE CAMELS BANK-RATING SYSTEM, THE LETTER ‘A" STANDS FOR :

1) ANNUAL QUANTITY
v 2) ASSET QUALITY

3) ADEQUATE

4) AVERAGE QUALITY

N— N N N

T : The CAMELS acronym stands for "Capital adequacy, Asset quality,
Management, Earnings, Liquidity, and Sensitivity."

95) TO FILL A TANK, 25 BUCKETS OF WATER IS REQUIRED. HOW MANY
BUCKETS OF WATER WILL BE REQUIRED TO FILL THE SAME TANK IF THE
CAPACITY OF THE BUCKET IS EDUCED TO TWO-FIFTH OF ITS PRESENT ?

1) NONE OF THESE
2) 35

v 3)62.5

4) 10



Let the capacity of 1 bucket = z

Then, the capacity of tank = 25z
2
New capacity of bucket = 5T
.". Required number of buckets
25z

AT | —
(2z/5)

96) BEFORE | COULD STOP HIM , THE BOY ‘WAS THROWING’ THE BOX DOWN
THE STAIRS

1) WERE THROWING
v 2) THREW

3) DID THROW

4) NO IMPROVEMENT

N— N N N

4T : Sentence 07 5190 TFHIE o/ AT simple past X3 1 5018 513 $GA (b)
threw X< |

97) THEY SET THE TWO FRIENDS BY THE EAR AND THEN ENJOYED THE FUN.
Which one is the best meaning of phrase?

1) NONE OF THESE

v 2) TO PROVOKE TO QUARREL
3) TO BRING IN AGREEMENT
4) MADE FRIENDS

MM : Set by the ear (57T ITMHCT C(1\3T) O FAIF 02 to provoke to quarrel
(ASTORT BFa A7) |

98) IN WHICH CITY WAS MARTIN LUTHER KING ASSASSINATED IN 1968 ?

1) NEW ORLEANS
v 2) MEMPHIS

3) PHOENIX

4) OKLAHOMA



A : Martin Luther King Jr., an African-American clergyman, and civil rights
leader, was fatally shot at the Lorraine Motel in Memphis, Tennessee, on April
4, 1968, at 6:01 p.m. CST. He was rushed to St. Joseph's Hospital, where he
died at 7:05 p.m.

99) A COMPUTER PORT IS USED TO

1) NONE

2) DOWNLOAD FILES

v 3) COMMUNICATE WITH OTHER COMPUTER PERIPHERALS
4) COMMUNICATE WITH HARD DISKS

A In computer hardware, a port serves as an interface between the
computer and other computers or peripheral devices. In computer terms, a
port generally refers to the female part of connection. Computer ports have
many uses, to connect a monitor, webcam, speakers, or other peripheral
devices.

100) 0.01 IS WHAT PERCENT OF 0.1 ?

1) 44571.0
2) 100.0
v 3) 10.0
4) 1/100
T : Let, 0.01 IS y PERCENT OF 0.1.
Now,( y/100)*0.1=0.01
or, y* 0.1= 100*0.01
so, y= 10
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